What 1s the Percent? (I)

What percent of the second number is the first number?

864 out of 5400

3348 out of 6200

2300 out of 9200

6880 out of 8000

615 out of 1500

2628 out of 7300

2730 out of 6500

7055 out of 8300

3388 out of 7700

297 out of 2700

4182 out of 5100

1280 out of 6400

6600 out of 8800

2925 out of 6500

415 out of 8300

4050 out of 4500

2970 out of 5400

780 out of 1000

462 out of 1100

5880 out of 8400

1276 out of 4400

120 out of 500

5544 out of 7200

7968 out of 8300

864 out of 900

8265 out of 8700

5372 out of 7900

1416 out of 2400

1040 out of 1600

6424 out of 8800

910 out of 1400

765 out of 1500

70 out of 1000

1482 out of 3800

5530 out of 7000

136 out of 3400

650 out of 5000

6853 out of 8900

1452 out of 3300

364 out of 5200
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What 1s the Percent? (I) Answers

What percent of the second number is the first number?

864 out of 5400
=16%

3348 out of 6200
= 54%

2300 out of 9200
=25%

6880 out of 8000
= 86%

615 out of 1500
=41%

2628 out of 7300
=36%

2730 out of 6500
=42%

7055 out of 8300
=85%

3388 out of 7700
=44%

297 out of 2700
=11%

4182 out of 5100
=82%

1280 out of 6400
=20%

6600 out of 8800
=75%

2925 out of 6500
=45%

415 out of 8300
= 5%

4050 out of 4500
=90%

2970 out of 5400
=55%

780 out of 1000
="78%

462 out of 1100
=42%

5880 out of 8400
="70%

1276 out of 4400
=29%

120 out of 500
=24%

5544 out of 7200
=T77%

7968 out of 8300
=96%

864 out of 900
=96%

8265 out of 8700
=95%

5372 out of 7900
= 68%

1416 out of 2400
=59%

1040 out of 1600
=65%

6424 out of 8800
=73%

910 out of 1400
=65%

765 out of 1500
=51%

70 out of 1000
="7%

1482 out of 3800
=39%

5530 out of 7000
=79%

136 out of 3400
=4%

650 out of 5000
=13%

6853 out of 8900
=77%

1452 out of 3300
=44%

364 out of 5200
="7%
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